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1. The coordinates of the point which divides the line segment joiningthe points A(x4, e g your Tomorrow

v1) and B(x,, y,) internally in the ratio m : n are:

Alxz v1) ':,'(x "y) B(x2 v2)

x> + 11Xy my2+ny1)
m + = m + n

P(x, y) = ("'

2.The mid-point of the line segment joining the points P (x4, 1) and Q ((x5, y>)

Alx, v)
P(xy. v1) Q(x2 ¥2)

Alx, y) = (i‘_x_;_"z zx%.u)
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LEARNING OUTCOME LSl st

1. . Students will be able to apply section formula to solve on problems
based on finding section ratio and section point.

2. Students will be able to apply section formula to solve on problems based
on finding points of trisection.

3. Students will be able to apply section formula to solve on problems based
on finding the unknown vertex of a geometrical figure..
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Problem solving on section formula;

https://youtu.be/fNF3u2rTccY(10.50)
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1.Find the ratio in which the line segment joining the points (— 3, 10)
and (6, — 8) is divided by (- 1, 6).
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1.Find the ratio in which the line segment joining the points (— 3, 10) EDUCATIONAL GROUP
and (6, — 8) is divided by (- 1, 6).

Let the reguired ratio be k- 1

kK:1
- m PLTTHA A(-3,10)  (-1.6) B(6, -8)
m|+m2
' = kx6+1x(-3)
B k+1
—* -1 =&¢c~3:~7k=2:>k=%
my,+m kx(-8)+1x(10
m, +m, k+1
- 6k+ﬁ=—8k+1{}:>14k=4::»k=%=%

The required ratiois 2: 7.
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2. Find the ratio in which the line segment joining A(1, — 5) and B(— 4, 5) is
divided by the x-axis. Also find the coordinates of the point of division.
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2. Find the ratio in which the line segment joining A(1, — 5) and B(— 4, 5) is

EDUCATIONAL GROUP
divided by the x-axis. Also find the coordinates of the point of division. e

Let p(x, 0) be the point which divides the line segmwnt joining A(1,-5) and B(-4, 5) in the ratiom : 1.

m 1
A B
(1, -5) P(x, 0) (4, 5)

Then using section formula, we get:

. 0) _[mx-—4+1><1 m><5+1‘>-<—5}
’ - m+1 ’ m+1
mx5+1x(=5)
= 0 = [Taking y-coordinates]
m+1
= 5m-5=0 = m =1

= m:1l=1:1

Hence, the required ratiois 1 : 1.

Since the ratio is 1 : 1, so P is the mid-point.
1-4

T2

SoX

=3
5
Hence, [— » DJ is the required point.

M|



0DM=»

3.1f(1, 2), (4, y), (x, 6) and (3, 5) are the vertices of a parallelogram taken in EDUCATIONAL GROUP
order, find x and y.
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3.1f(1, 2), (4, y), (x, 6) and (3, 5) are the vertices of a parallelogram taken in EDUCATIONAL GROUE

order, find x and y.

Mid-point of AC = Mid-point of BD
x+1642 _4+3 y+5

4 1

2 2 2 2
x+1 7 . 6+42 y+5
— = —and —
= 3 270 12 3
= x+1=Tand8=y+5
= x=T7-landy=8-5=3
= x=6 andy=3
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4. Find the coordinates of a point A, where AB is the diameter of a circle whose EDUCATIONAL GROUP
centre is (2,— 3) and B is (1, 4)




4. Find the coordinates of a point A, where AB is the diameter of a circle whose
centre is (2,— 3) and B is (1, 4)

Let the coordinates of the point A be (o, ¥).

Then as C(2, —-3) is the mid-point of
diameter AB.

ey
(x, ¥ (1, 4

-~ Coordinates of C = [ x+1 y+4 )

2 2
= 221;1 = x =3
Also, -3 = 3"';4 = y = —10

Hence, the coordinates of A are (3, —10).
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5.1f A(5,1),B(1,5) and C(-3,-1) are the vertices of triangle ABC. Find the length of -5 CATIONAL GROUP
median AD. e o your Tomorow



5.1f A(5,1),B(1,5) and C(-3,-1) are the vertices of triangle ABC. Find the length of
median AD.

Sol. AD is median of AABC
D is mid-point of BC

Coordinates of D are:

1-3 5-1 - 4

= \=">7/ ] —“1,2
(2’ 2 ) (2 2) (-1,2)
Length of AD = «/(5+1)2+(1_.2)2

= y36+1 = /_37 units

DM =4

EDUCATIONAL GROUP
ha arrow Ml

Y Changing your Tomarrow,



00N=%

EDUCATIONAL GROUP

Y~ hanging your Tormorrow Ml

HOME ASSIGNMENT Ex. 7.2 Q. No 4 to Q7

AHA , )

1.If the points A(6, 1), B(8, 2), C(9, 4) and D(p, 3) are the vertices of a
parallelogram, taken in order, find the value of p.
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